Mother's Arithmetic * Compound Interest

Compund interest (Type-9)

The difference between simple and compound
interests compounded annually on a certain
sum of money for 2 years at 5% per annum is ¥
45. The sum is—

T Tfirera afin o2 2 =6t % ferw 5% anftes =it < @ =ftfs &
Y HAq 9 A TR0 <A S7R =hag ot § SR T

45 % | Uiy fmeat © 2
(A) T 36000 (B) T 72000
(C) T 18000 (D) T 54000

The difference of S.I. and C.I. on an amount of
3 30000 for 2 years is ¥ 147. What is the rate of
Interest ?

T 30000 T 2 Tt o HTEIROT <A 3T =Ishaf5 STl I ST
% 147 B, T =11 %1 <X W IS 2

(A) 7% (B) 8%

(C) 9% (D) 6%

The difference between simple interest and
compound interest on ¥ 1250 for 2 years at rate
of 4% per annum is—

T 1250 W 2 uf % T 4% 7fa o =t T R s

SR =R =TT 1 ST T HiTor ?
A)Z 3 (B)Z 4
(C)Z8 (D)% 2

If the difference between the compound inter-
est and simple interest on a certain sum for 2
years at 8% per annum is ¥ 32, the sum is—
Torelt & TR 2 9 1 8% ATk <ATS i T & TR G ST
ST RO =1 1 SR T 32 T, T % AU [0 IS ?
(A)X 5000 (B)¥ 4300

(C)X 5300 (D)X 5700

The difference between C.I. and S.I. on a cer-
tain sum of money at 15% per annum for 2 years
219 days is ¥ 2061, then find the principal.

et FfY=m ot W2 99 219 A | 15% =t =fies
THIG A W W, FhHILG SAST S HLR <A & s

=1 3TR T 2061 &, T FAEH I FHIFT |

(A) ¥ 40000 (B)¥ 48000

(C)¥ 36000 (D)X 32000

The difference between simple and compound
interest compounded annually on a certain sum
of money for 2 years at 4% per annum is ¥ 1.
The sum (in ) is :

Torett T T 4% =fties sl X & 2 = o forg (s wa 4
HAIA) HIER <A1 37R Fehgis o il ST 3 1 198
RIS S E ?
(A)X 620/-

(C)% 640/-

(B)T630/-
(D)2 625/-

7.

10. If the difference betwen the compound interest

11.

If difference between CI and SI of 1 yearis ¥ 36
when a sum is calculated at a rate 12% per

annum after every six months. Find the sum?
=% Rt ety s 12% =nfifer ot R E 2B WEH 9%
e S o =k SATST ST HIER SATST 2l TS o
3R X 36 I, T I AT fRat € ?

(A)% 10,000 (B)¥ 12,000

(€)% 15,000 (D)% 9,000

Difference between two years compound inter-
est and two years simple interestis ¥ 25. If rate

. . 1 0 . . .
of interest is 125 %o p.a. Find the Principal?

Tt Tt v w2 auf & 12%% =t AR T TR

S Q1 Tohg 5 AT il S T 25 T, @ T F1d F ?
(A) 1925 (B) 1800

(C) 1900 (D) 1600

The difference between compound interest and
simple interest at the same rate of interest R%
per annum on an amount of ¥ 15000 for 2 yr is
% 96. What is the value of R ?

Z 15000 =t Tfdt W 2 =t & e =shats samst qen snemo
1§ Tk €1 S U R% iftish /T 96 =l 3T E | R I
THFNE ? (CDS 2015(1))
(A) 8%

(B) 10%

(C) 12%

(D) Cannot be determind

and simple interest at 17% on a sum of money
for 2 years (compounded annually) is ¥433.50,
then the sum (in ) is :

TRt &R T 17% =l &I S H 2 3§ U =Rt oS
3T WIER =411 % St 1 SR T433.50 T (AfE =t i

U SR whafs STUR W € ), @ T3 (TH) IR |
(CPO - 2020)
(A) 12,000 (B) 25,000
(C) 15,000 (D) 20,000
The difference between compound interest and

simple interest on ¥ X at 6.5% per annum for 2
years is ¥ 33.80. What is the value of X?

6.5 Tfd o4 F W H T X W2 99 % fou wswrafs = oy
e =St H ¥ 33.80 FI SR F | X B A FNE ?

11 July, 2019 (Shift : III)
(B) T 7500

(D) T 8500

(A) T 7800
(C) T 8000
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Mother's Arithmetic * Compound Interest

12.

13.

14.

15.

16.

The difference of S.I. and C.I. on a sum at 10%
per annum for 3 years is ¥ 31. Find the sum ?

Tt oM IR 10% e 1T skl T 3 TS o HIER ST
3R =Ihgfs =S 1 ST T 31 T, T HAUE 1 ity 2
(A) 1100 (B) T 1050
(C) T 1000 (D) T 950

Difference between three years compound in-
terest and simple interest is ¥ 57 while rate of

2
interest is 165% p.a. Find the principal?

el emRIfST TR S o o skt SATST A WIER SATST B

s T 57 © SafF oA H 16%%%@%@%

ST R 2
(A) 620
(C) 758

(B) 720
(D) 648

Difference between three years compound in-
terest and simple interest is ¥ 1701. While rate
of compound interest is 15% p.a. Find the prin-
cipal?

= ot o =kl STt S W et i S T 1701 ©
STeIfeh STt i AT X 15% & | e T o 2

(A) 20000 (B) 22000

(C) 32000 (D) 24000

The compound interest on a sum for 2 years is
¥ 832 and the simple interest on the same sum
for the same period is ¥ 800. The difference
between the compound and simple interest for
4 years will be—

et o we 2 ol o wehgfE oA T 832 © e 3t ¥ W
HHM T3 % Telt T8 <0 o e =&re € 800 © | 556 &
T4 T H ARG (G ST A0 FIEROT TS H ST I ST 2
(A) 145.64 (B) 186.44
(C)274.68 (D) 202.44

Khushbu borrowed a certain sum of money at
certain rate of simple interest. If, instead the
sum was borrowed at compound interest, the
interest for the first two years increases by 100.
While the total interest for the first three years
increases by ¥ 305. Find the sum?

GG A FO Y YR A 1 L H SUR ¥ | AfS 78
SFRITT =IhafG SATST Wt W § SR A, @ & 9% | T 100
1R =TSt S TS ST <fiF o # =&t ¥ 305 Stfees 3
TEaT B, A RIS A w2
(A)% 20,000

(C)% 40,000

(B) 30,000
(D) % 50,000

17. A sum, is deposited in a bank at rate of 10%

18.

19.

per annum compound isnterest for 2 years.
Amount of ¥ 2050 is paid from the amount ob-
tained after 2 years and remaining amount is
kept for 3rd year. Only the interest of third year
is 8/21 times of compound interest of first 2
years. Find the sum which was originally de-
posited in the bank?

et e B fopelt SR H 10% ik =skafes =amet it @
T 2 =yt % T s o st & 1 2 =t 3 @ <7 frges
T e SHH | T 2050 1 A = S0 ST & aen 99 uiy
1 TR T % Tor oig feam s © | fodh dier = =6 <7 =)

2 9 YT 2 T % Tehfs IS % TR | T S

1 2 o8 sy | S s e e e ?
(A) T 7,000 (B) Z 5,000
(C) % 8,000 (D) 10,000

Anil lent out a certain sum on S.I. and the same
sum on C.I. at a certain rate per annum. He
noticed that the ratio of the difference of C.I.
and S.I. for 3yrs and 2 yrs is 25 : 8 respectively.
The rate of interest is—

A T Tiv=m afe v e aem = &t 9
T LT ST A T R TRl oA % S H RO AT S |
o TEd € TR 3 We % AU =shafs s qen | s
T STRR T 2 | o T Fehag S 9 YR S 6
ST T STUIG 25 : 8 T, T <Al <L F1d TS 2

(A) 25% (B) 20%

(C) 30.50% (D) 12.5%

Anil lent ¥ 10,000 each, Rekha at R% simple
interest and Jyoti at R% compound interest. If
at the end of two years, the total of the two sums
amounts to ¥ 28,400. What is the ratio of the
simple interest on the first sum and compound

interest accured on the second sum at the end
of three years?

31t 7 @ &R w9ifa T i ¥ 10,000 . FHFI R%
HIYR &1 Tt W H 9 R% =ehdfs o & X SUR A |
ST ol Q) 1A 91 e TN o T H < 28,400 e,
1 |TeT % foru TneRor =2t ST =k TSt w1 ST
B ?

(A) 15:17
(C) 25: 53

(B) 35:43
(D) 75:91
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Mother's Arithmetic * Compound Interest

Soluytion
R\’ PR?
© Difference of 2 year = Px [ﬁj A= (100)?
I P x (4)°
= X—X— =
=45= 700 100 =1 ooy’
= P =%18000 10000
R 2 = P = 16
A) A=P[ﬁ} =P=%625
ATOQ, 7. (A) Simpleinterest % of first year =12%
Compound interest % of first year when payable
2
- 6x6
147 =30,000 * 75-555 half yearly = 6+6-+= =1236%
=>R*= 49 Difference =12.36 - 12 = 0.36%
=R=7% 36
= Amount (100%) = ~——*100 = Z10,000
R P 0.36
(D) Diff. (A)= P[ﬁ} 1, 25 1 1
8. (D) Rate=12-%=—XxX_—=—
ATQ, 2 2 100 8
4 TP Note : In these question always let Principal (P)
A =1250 x [ﬁ} =1250 x 625 % 2 = (Denominator)?

W a=p[]

g P
=32= P[ﬁ}

 32x25x25

P
= 4

=3 5000

1
(A) 73 days = 5 year

3
219 days = 5 year

15%, 15%; 9%
lyr I 1yr 1 3/5yr

Let P =20%= 8000
1200
1200 - 180
720 — 216 - 16.2

4120 —23 539061
P = 8000 x 5 = 40,0000

(D) Letthe sum=%P

Let Principal = (8)* = 64

o4 /%25 > 1600
1/8 1/8
/\

8 8

T 25

1/8 X205

If value of 1is =25
then value of 64 is
=25 x 64 =31600

9. (A) Given principal (P) =% 15000

.. Simple interest (SI)

Principal x Time X Rate
100

100
Now compound interest (CI)

R n
= Principal |{1*750) ~1|= 15000
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Mother's Arithmetic * Compound Interest

According to the question CI - SI =96

i .
= 15000 (1+mj _1}—300R=96

(100+R

2
-1 _
100 j }—3001?—96

= 15000

(100 + R)* - (100)°
(100)”

= 15000 1—300R=96

15000
1000

300R = 96

— 1.5 [(200+R)R] - 300R = 96 = 1.5 (200R +

R?)-300R =96
= 300R + 1.5R?- 300R =96

Hence the value of R is 8%

Shortcut Method

Given principal R =% 15000 rate R=?
differecne D =3 96

PR’
For 2 yr difference = (100)2 = 96 =
15000 x R?
e — R2= 4
10ox100 X 7°
. R=8%

10.(C) R effective for simple interest = 34 %

11.

R effective for compound interest = 36.89%
difference = 2.89%

5 433.50
= X
Um="5 89
= 15000

(C) As we know,

R \2
Difference = P (ﬁj

33.80 = (EJQ
80 =x| 79

= x=% 8000

Rate=10%

Reff. for CI=33.1%
Reff. for SI=30%
Diff. in Rates =3.1%

[(100 + R + 100] (100 + R — 100) -

13. (D)

14. (D)

15. (D)

16. (C)

ATQ,
3.1% of Sum =31

31
= Sum = EXIOO =%1000

3CI =381 =57

2 1
- 162% = =
R 3776

Let Principal = 6% =216
/x_3\

67 = 216 % 648

36 36 36

6 6i=19
\1

If value of 19 is = 57

then value of 216 is
=216 x3=3648

3CI-38.1.=%1701
3
R=15% = 7=

20
Let P=% 8000

/'E\
8000 24000

12Q0 1200

1200

1701
. PNx3 AT
So, principal =3 24000

180, 180 = 567
L~ o7

SI and CI are same for first year = ¥ 400
So, 832 — 800 = 32 Interest of T 400

32x100
R="“—"""“~"- -

o)
400 it

_ 400 x100
1x8

SI for 4 year =400 x 4 = 1600
CI for 4 year = 1802.44
Required CI-SI=1802.44 - 1600 = 202.44

ATQ,

R 2
Pl — | =
(165) =100

=3 5000
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Mother's Arithmetic * Compound Interest

R Y(300+R
=305

andp(loo 100

300+R
| ===

100 jx 100 =305

(Put value from (1))
=R=5%
Put the value of R in equation (1)

5
P x [ﬁj =100

=P =40,000

17. (B) Let original sum = 100P

So, Amount in 2 years

100P non 121 P
= X — X — =
10 10

Amount
121P

Principal
100P
21P

CI

Remaining amount = (121P - 2050)
According to question-—

1 8
(121 P-2050) x -~ =21 P x —

10 21
= 121 P-2050 = 80P
= 41 P = 2050
= P = 50

So, Principal = 50 x 100 =¥ 5,000

r Y (300+r
. =P -
18. (D) Diff. for 3year CI & SI [100j[ 100 j

2
r
- - P —r
Diff. for 2 yrs CI & SI [1()0]
ATQ,

pf T 300+
Diff. for 3 yrs 100 100 ) 25

Diff. for2yrs ~ of T ]2 K
(100
300+r 25
100 8

19. (D)

= 2400 + 8r=2500

= 8r= 100
100
=>r= ? =12.5%

P=10,000,R=R%,T=2

R Y 2R

= 1+—| +10,000|1+=—

28400 10,000( +100j +10, ( +100j
R? 2R

1+ —+— =
=10,000 ( 10000 100} + 200R

18400

= R? + 400R = 8400

= R?2+400R + 40,000 =40,000 + 8400

= (R +200)2=48400

=R+ 200=220

= R=20%

.. Ratio of interest accured for 3 years is
SI : CI

T
PIR. P(1+—5Lj -P
100 100

3
10,000 x 3 x 20 1420
= . ].0,000 100
100

60 728

100 1000
=75:91
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